SRETRANER G
g

<# & >

1999

A

w




1991









10

2,500 2,475 25 1,142 1,116 46.1% 45_1%
1
100.0
2
Multiple Answer
3 Limited Answer
2 Limited Answer
100

3



I+

+2.8

(100

)

I+

I+

I+

I+

I+

N=1,116

95

95

60.7

57.9 63.

99

50,213
1,116






Q)

30

251

20t

151

10+

N= 1,116

| _.3.1--- 2.8--1




499

30 99 N= 461

N= 1,116






1,116

N

1. ABREFERICAT SFH

80 (%)

100 (%)

1.2

1.3

1.8

1.3
1l

60

40
I

34.3
45.0
50.8
39.8
1
80

12.2

~
~ [Te)
n n
ST

=179)
=178)

=248)
=265)

(
(
(
(
(
(

11



1,116

N=

22.7

20.1

— O —

43.5

26.7

—_— —

47.7

30.6

18.2

36.6

1.5

34.9

35.5

— —
— =

49.8

27.0

T

1.3
1
1

28.0

24.7

100 (%)

80

10

12



=155

=179

=178

=248

=265

)

19

19

13

45.2 0.0
}
1
43.6 0.6
]
L
1
42.7 0.6
]
7
||
444 1.2
]
1
44.5 4.9
|
20 40 60 80 100

50

60



49.2 0.0

35.5 1.3
]
!
||
36.3 1.1
]
|
27.0 0.6
]
L
n
27.0 0.8
[}
14.3 I3.!s
]
0 20 40 60 80 100
| | \I
32.3 49.2 0.0
|
|
26.5 56.8 0.6
’.'
19.0 29.6 50.8 0.6
/l
I
46.6 1.1
1]
I
11
51.2 1.6
11
|
47.9 4.2
|
0 20 40 60 80 100
60
10
39
60

=179

=178

=248

=265

)

60

14

19

50

20 49

50



=65

=155

=179

=178

=248

=265

20

26.2 27.7 0.0

15

1

25.8 18.7 Of
1

24.0 18.4 0.6
P

1

23.6 19.1 o.6
P

n

27.8 20.2 Oﬁ
I'1

22.3 20.0 3.0
L1

60 80 100 (%)

19

50



35 (MA%)

15 20 25 30

10

1,116

N=

34.7

™
Te) ¢}
N
N \\11_ \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
o~
~
o
R .00 ___ 00 o ________________
pea \
<9 o
< N
— - ~
R _ ] I R N -mmm e
— — <
o
—
<
© o
| _ | | __ <] i _

34.7
26.2

25.3

23.8

16



0 10 20 30 40 50 60 (WA%)

0 10 20 30 40 50 60

0 10 20 30 40 50 60

0

4 \\\\\\\\\\\\\\\\\\\\\
n ~
B R~
m o 3 o
QNN
o]

_ _1
\\\\\\\\\\\\\\\\\\ R
| _ _ _ . N - _

™

10 20 30 40 50 60

0 10 20 30 40 50 60

0 10 20 30 40 50 60

0 10 20 30 40 50 60

0 10 20 30 40 50 60

=65

=155

=179
178
248
265

10 20 30 40 50 60

0

0 10 20 30 40 50 60

30 40

50

29

17



e 20

20

1,116

N=

©
~
N

f— =

85.6

2.2

75.5

f— =]

60.0

— i =

42.0

— ~ —

52.8

f— =

= =

53.8

100 (%)

40 60 80

20

20

18



0.0
]

90.8

0.6

89.7

91.6

=179

91.6

86.3

=248

6.8

4.7

18.5

=265

100

80

40

()

100

80

60

40

20

0.0

53.8

[Te]
[Te]

0.0

1

0.0

56.8

1.

=155
179

3

7

9

178

64.5

84.3

6.4

58.9

71.3

100

80

60

40

20

0

(D]

100

80

60

40

20

20

50

30

29

19



- 60.0 1.5
=65 T
||
_ 58.1 0.6
=155 L“
I
=179 65.9 1I.I1
n
_ 39.9 58.4 1.7
=178 “
51.2 &
. 1.6
=248 T
37.7 ho
. 4.9
=265 1]
%) 0 20 40 60 80 100
| ! | |
1
61.5 oio 65 56.9 0.0
i !
63.9 0.0 0.0
, =155 51.6 i
78.8 || N
- l[l-ll =179 60.3 1[|.I1
79.8 I 11
- 1|\|7 =178 58.4 l{|7
86.7 2 52.0 X
. 1.2 . 0.8
I =248 1
1
15.1 78.9 6.0 _ 47.9 4.9
=265 1]
0 20 40 60 80 100 %) 0 20 40 60 80 100
19 30
60
29
30 40

20



1
0.4]
N=453 58.7 0t
0.2
{ /
|
N=636 : 0.8
J[o-8
0 40 60 80 100 (%)
19
60
h 0.0
1| o
(N=65) 52.3 5.1
0.070.6%0.6
(N=155) 65.2
0.6+0.0'0.0
(N=179) 66.5
z;
1 .
0.9
_ 63.7 0.4
(N=248) los
0.8
49.1 0.8
(N=265) o [0.8
I 1 1 1
20 40 60 80 100 (%)

21



60 (MA%)

20 30 40 50

10

1,116

N=

57.7

31.2

32.4

30.9

22



(N=32)
(N=61)
(N=64)
(N=59)
(N=114)

(N=123)

(N=33)
(N=94)
(N=114)
(N=119)
(N=134)

(N=140)

0 20 40 60 80 0 20 40 60 80 0 20 40 60 80

0 20 40 60 80 (MA%)

1]
il

: 32.81 | ! 39.1
| oo ‘ |

54.2! |22.0 P 33.9 !
I I I I | I I
O

1
&
=

N

@
3

‘ 43.8 |
4.4 32.8

19.3 || ‘ | 211 |
I I I
| |

I
22.8 |

0 20 40 60 80 0 20 40 60 80 0 20 40 60 80

34.4

LLJ

34.4

|26.6 i

137.3
I I

I

21.9

| 26.0

[

0 20 40 60 80 (MA%)

20
60

ul
o

24.3 | | 25.0

L

30
19
50 30

74.6

23

60.6

|

47.9

I

3.1

L

I
31.1

37.3

L

16.4

43.8



18

)

(

60 (MA%)

20 30 40 50

10

1,116

N=

©
o
[Tel [qV]
] DN .
< o
o
<t
©
i \\_.U.\\\PO \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
™ <t ©
3 .
- ©
©
i | | } N
[oe]
g <
o A
— [ee]
a | | . . e o ___
. - | 5 4 4 B1 V- 3\\
< ©
™ ™
—l ]
SN I S I S N SN N S— N S— N S— N S—— N S e — —

50.6

42.5

47.2

24



)

(

70 (MA%)

20 30 40 50 60

10

1,116

N

™
o X
~ ~
P— \\4w\\4 \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
—
s 9
N~ o]
B R T
™
[oe]
N~
B | i SN
(o]
~ 9
B | i B T et
—
B | i N N o -
()] ™ o~
o

62.6

47.8

49.3

41.4

25



)

(

70 (MA%)

20 30 40 50 60

10

1,116

N=

1
31.3

64.4

63.8

26



)

(

50 (MA%)

20 30 40

10

1,116

N

< <
. <
o o '
< < o
™ —
©
™
o
o <
N ©
L - . e N m m .
¢}
™
N
N B i L R PSR
< .
™
— A
N B i L N I I © -
Lo
o
o~

45.3

40.4

39.4

27



a

PURCRSY

& IC

1B 70 1&

2.

10

1,245)

(=

1,116)

(N=

>
=
< o
O 4 ____ P
Lo [a2)
Q
o]l ______| ol
< ~
©
o N
=
Lt H - o m
o
o o =} — N
= - © © o o
— _ [ 1 2 ¢
o
©
[ S .
re} ™
<
ol |\ V.
<
©
o f
\\\\\\\\\\ o .
™ I\
ol |\ W\
39
“ ™
ol _w__| R - N o -
— < 7o) ~ ol :
_|_ _ _ o ™
o [ _ 1l 1

12

15

12

43.8

15

24.6

28



10

(N=65)

(N=155)

(N=179)

(N=178)

(N=248)

(N=265)

(N=126)

(N=187)

(N=179)

(N=286)

(N=212)

(N=212)

I 15 33 |
0.0 44.6 32.3 12.3 .
| |[52] 50
M 2.6 4-5“] 3
1.9 63.2 23.2 |2|6' v
L 1y 0.6
” Tf T I n
1.1 60.9 5.1 4'519'6
I [s0] 17
[ 1.1
2.8 43.8 27.0 11.2 ]10.7 4,1
[ ] " [0.0
[ 1.2|
4.0 34.3 28.6 73| 129 |89 15,
L I3
T
2.3 |
10.6 31.7 19.6 5.3 13.2 11.3 | 6.0
T T T T T 1
0 20 40 60 80 100 (%)
\
[T [ 0.0 1'6‘
1.6 43.7 43.7 5.6 1 58
| | 4000
I
| 4.8 3.2
1.6 62.0 23.0 | LO'O
Ll | +3]aa
I
Il | |
1.1 40.2 33.0 78| 14.0 3.9]0.0
1 | 0.0
T [ o3
3.5 38.8 30.4 6.6 12.9 s ¢ 0.7
(I ] M
27.8 0.8 | -
8.5 38.2 . 5.7 10.8 ¢ | 14
1
5.7 41.0 9.3 (47 103 | 12.3 ifzs
I T T T T 1
0 20 40 60 80 100 (%)
12
20 30
12

29

30



10
(\=1,116) (N=1,245)

0 20 40 60 0 20 40 60 (%)

31.0
28.0 52.4
36.4

30



20 40 60 80 0 20 40 60 80

0

20 40 60 80

0

20 40 60 80

0

155/187)
179/179)
178/286)
248/212)
265/212)

~
©
N
—
N
n
(=]

=
(=
(=
(=
(=
=

10

39

40

30 40

31



w
5 -
N

H 8 I
-N

~ .

=) (o2}

(o]

| E—
w
N

56.8 |

| 72.0

32

o

20

(N=1

,245)

80 (MAK)

40 60




20 40 60 80 100

0

80 100

0 20 40 60

20 40 60 80 100 (MA%)

0 20 40 60 80 100

39

29

30 40

33

o
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ S o
i
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ o e - o)) [
@ N o o Ne
o 710.%97. o~
@ T o Qe gl v <g- e
© N A e
o o ™
Ql - m 1 | | L
=~ I3
odlr1 I | ] | A -
39
o
o
S o
i
o X ___. L ___ o
o i 7o) =1
© : <
ol __________ 3E4u1_w\7no.\
© 5.%%'%'@4
o | o Y o N o N N o
1= 814_12 — =
: N
o
o I B, | \ B ] -
N in=inll
o
S . g.9® o Y™ oo~ o
T o ~
— — LN « © o O o .
© ~ ~ O~ © ~ - <
o o ™~ ~ .
oo [T TTTTTTTTTTTTTTTTTTTTTTTTTTT o [T 1 — o -
©3
o ) e _____ o | | _
© 3.600 ©
ISV . <
ol ____ RA TN D oS- am- =) i - -
< © o RNV <
~NOo g5 aWN o
s OMre ® | L
o o
£ T <
= . 3 =
N
ol ~N K MN® o o
° 1 0 o o
O W
o w N . o
© o ©
B3
o o
< e 2
n © o
o 1\1\.‘&‘83‘ o
: [hes. 8
o o
~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ =) ~ ~ ~
~ ™~ o © (N (N ~ ~ o © () () ~ ™~ o © (N ()
© © ~ 0 — — © © ~ 3] — — © © ~ 0 — —
N = = N N N I = - N o o I = = N N o
— N N N N N - N N N N N - N N N N N
N 7o) o =) 9] e} N o} < oo =9} 7o) N 0 o (<) [>9) 9}
o} 0 ~ ~ < © 0 [Te} ~ ~ A © 9} 0 ~ ~ < ©
f T ¥ T 9 9 f T T T 9 9 f ¥ ¥ T 9 9

(N
(N
(N
(N
(N
¢
(N
¢
(N
¢
(N
(N
(N
(N
(N
(N
(N
(N



11

11

1,245)

(N=

1,116)

(=

80 (MA%)

60

40

20

®
L
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ N~ o ____
o
“““““ - ____w________________| e
o ©
<
o <
— : N
! ) o
< — —
s = 0 =
[e0]
<
1
i
Lo
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ D~ o ______
™
. ©
\\\\\\\\\\\ o @] e
< 0
<
)
— s <
1 = -
< ~
I [{e)
—1 1

75.1

49.3

45.8

34



0

80 100

0 20 40 60 80 100 20 40 60 80 100

0 20 40 60 80 100

0 20 40 60

65/126)
155/187)
179/179)
178/286)
248/212)
265/212)

(N
(N
(N
(N
(N
(N

10

10

30 50

40 50
10 20

30

35



80 (MA%)

60

3,814
40

N
20

60

10
(N=1,116)
20 40

12

_| - 1
—
G
~
™
~ g
o
—
N
A :
< 2
j_l_ “““ O ST S e e w ] .
[Te]
_|__|__|__|_.|. —
)
I7 6
o
(e}
o
. R e I
= —
[oe) N
- \1\\2\2\0\\0\\ \\\\\\\\\\\\\
— 9

o
<
(@]
N
~ fon) ~ ) —~ fon)
i (fe) o [ © (0e)
8 0 ~ ~ A ©
1 Al - — o~ ~N
4 T T T il il
) = = = = =
N N ' N N

67.7

100 (%)

T
80

36




13

10

1,245)

(N
10 20

1,116)

(=

50 (MA%)

40

30

0

~
\\\\\\\\\\\\\\\\\\\\\ 2\1111% e @
o o
® @
\\\\\\\\\\\\\\\\\\\\\\\\\\\ g - .
< o ™ o
N e g ~ <
\‘B T -] ] -
— <t
] | i i i I -~
i _ -
_ _ | — |
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ N~ '
- \
oK ™ 5
\\\\\\\\\\\\\\\\\\\\\ o _______| . .
N
© 9]
\\\\\\\\\\\\\\\\\\\\ — Qu. - - E - \\‘?_ Y o P [
R B - 8 < 2
. { o
] © o © | | i - _o.__
—:nnnﬁ :

3,814)

11.9

(N

6.6

2.3

16.7

13.5

3.5

6.6

24.1

6.9

3.6

4.4

24.1

30.2

25.5

31.7

16.7

37



60 (MA%)

40

20

60

40

20

(32
r 1o ~ —
S < 2 TS
o~ — H S <
N T A S —
(2] . . (o)} o
eateninlisll
~ ~ ~ ~ ~
~ ~ (2] © N N
© [ee] N~ [ee] i -
N — — N N N
— N N ~ ~ ~N
N n o <) [e] Lo
Lo n N~ ~ < ©
T ¥ ¥ v 9 9
= = = = = =
N N A N N A

40

20

o 4

60

40

20

o

65/126)

(=

~
~
[ee]
=
N
0
[Te)
=

=

179/179)

(N=

178/286)

(=

248/212)

(N=

265/212)

(N=

10

\\\\\\\\\\\\ [N
o~ ~
84.3.L53Z o o
0 Do N TN ol
m T S <5 oS

~ ~ ~ ~ ~
~ ~ [ © &N ~
© © ~ © — —
~ - p} N N N
— N ~ N N N
S 3 I IS =) )
) 1y} ~ ~ < ©
¥ ¥ ¥ 9 9
= = = = = =
< < < < < <

40

30

30

38



14

10

(N=1,245)
40

(\=1,116)
40

80 (2LA%)

60

20

80

60

20

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ o
o
(o)) O
X N
©
™
© 0 o~
©
e — ~
] 1 2 =1 I < o
o 1 < © o
™ 7o)
N o~
— [ ] — L ——
To)
[32)
oy S 5
Q <
] Y [ H S
© < <
© I ©
— N —
] _ e o = M~ oo oo
. ©
® ~ < © P
N _|_ —
NN I SN N E— — 1l ___ SN B E— ] | — 1

53.5

39

43.3
33.4



80 (MA%)

20 40 60

0

O o _____
©
o d_ ___ L ____
©
o
IS 3 oS oA o-N - ™~
< ;2o 0w oN o d
(2] — . 0 N N
© 0 N7, 5o N
ol —_ o . . N
NinSiEninsuainling
o l 11
O o _____
9]
o
©
o |
<
[=h
34
o J

0

20 40 60 80

55.1

65/126)

155/187)
179/179)
178/286)
248/212)
265/212)

(N
(N
(N
(N
(N
(N

60 80

0 20 40 60 80 0 20 40

60 80

20 40

0

~o 9 0 —
T -w-—""- Tl N To -
SN QW IQ a3
AN ~
] w

65/126) |1
11.6
155/187) 8.0
‘16.
179/179) 14.
248/212) i;l

178/286)
265/212)

(N
(N
(N
(N
(N
(N

60

48.3

40
30

40



15

10
(N=253)

(N=292)

15
15

47 .4

56.7

41

(N=103)

13.0



10

13.0 32.5 (N=123/132) 45.5
45.3 (N=128/156) 55.1
20 40 60 80 100 0 20 40 60 80 100
10
|

22.4 1|.|5 (N=67756) 1-8 19.6

24.5 OiO(N:53/45) 2.2 17.8
20 40 60 80 100 ® o 20 40 60 80 100

54.5
41.4
10

42



(N=39)
(N=88)
(N=99)
(N=31)
(N=161)
(N=84)
(N=45)
(N=120)
(N=122)
(N=44)
(N=187)
(N=92)
42.2

10

O -

45.5

50.3

48.9

O =

60.7



16

10
(N=736) (N=910)

38.9
29.6

46.4
10 50.2

44



10

(N=39/64)

(N=125/145)

(N=148/266)

a1 114\ 919/203)

9.4 44.3

(N=192/193)

0 20 40 60 80 100 )

20 30
40

50

45



17

40 (MA%)

25 30 35

20

15

10

1,116

N=

o
©
\_ Ire) _y
o
R
~
~
| N
—
© o
o o ©
: | (mmmq-mman - 08 =-=(Q wmzmzmmmsmnooooooos o -
© ©
< —
| | i | e ]
™ ©
_|—_|_ °
| —

17.7

27.5

10 20

80 100

80 100

0 20 40 60

60 80 100

20 40

0 20 40 60 80 100 (MA%)

0 20 40 60

65)

155)
179)
178)
248)
265)

(N
(N
(N
(N
(N
(N

46



18

10

54.4

(\=1,116)

9.1

9.9

38.5

9.1

32.

7

7.8

37.5

8.1

1
100 (%)

8.5

12.0

12.5

12.2

12.2

12.0

63.3

47

59.4

52.4

80

100 (%)

49.5

77.1



10

(N=178/286)

(N=248/212)

(N=265/212)

()

(N=155/187)

(N=179/179)

(N=178/286)

(N=248/212)

(N=265/212)

0 20 40 60 80 100 (%)

40 50
20
20 10
10
48




20

49

30



19

10
(N=1,116) (N=1,245)

10
58.2 27.0

50



=442)

(N
10 20 30 40 50 (MA%)

0

10
301)

¢

0

19
19

10 20 30 40 50

™
N~
\\\\\\\\\ ~
o
T L S
o ™
I3\
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ ~
(N
w0 3
. 1
- \\\4 -——! e
= ~ <
o
| | L _ o -
o~ O
—
Te)
\\\\\\\\\\\ St
<
o~
o .
T I I, O o ____
N ™
™
- [ 3 N
—
—
N~
< ™
11—
~
S
o
ln_<_u =
= o
< o
(=)
—
2]
—

32.9
42.2

(19.3 )

44.5

51

35.2



10

72.3 0.0
] (N=65/126) 68.3 IS‘SI
1
63.9 5.2
|| (N=155/187) 51.3 9.6
A
1
63.1 6.1
] (N=179/179) 61.5 8.9
57.3 14.6
(N=178/286) 52.4 12.9
51.2 17.7
(N=248/212) 42.5 16.5
58.1 23.4
(N=265/212) 44.8 18.9
0 20 40 60 80 100 ) 0 o o - o
60 18.5
20 40 60 80 0 20 40 60 80 0 20 40 60 80 0 20 40 60 80 (MA%)
— ] 55.6 |
(N=18/33) ] 69.7 !
] 25.0 | |
N=48/73 ‘
e Tas |
5.5 | | | !
(N=55/53) il 5 |
a0 || ;
(N=50/99) AR 1
5.2 | i | !
(N=77/87) o |1 i
6.1 | 1 3
(N=49/77) P |
| | | | |
10
19 40
20 40

52



10

N=18

N=48

N=55

N=50

N=77

N=49

N=33

N=73

N=53

N=99

N=87

N=77

27.8 5.6

45.5

44.0

44.2

44.9

20

1
40 60 80 100 (%)

42.5

60.4

42.5

17.2

39.0

18.2

1
40 60 80 100 (%)

19

19 20
20

53



3, TOAR

BRERCNTSEH

20

5.8
55.8

=155

=179

=178

=248

=265

50.0

54



1,245)

(N
0 10 20 30 40 50 60 (MA%)

10
=1,116

N
0 10 20 30 40 50 60

21

40.6

e
=
o =
~ &
e o ___ o
S P
— o
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ [T I %)
S (=3 D —_______
S .- N R SR ©
~
o o d & |
\\\\\\\\\\\ O e o | ------- 5 © ~
g = ~ Lo 3
A o _____. [ R (R O I I | _ o oo e ____
3 = ~ i ST 1w =
— o < o © I
g | R - R . Lo R o =1
o < _ ] = & T— 1 |Fw~
o —
_ o~
\\\\\\\\\\ o
o <
d © p— —
o o
old o
= 9] ©
I — e I I 8
~~
old I 1.
e e EEERnEEE | |B| | SEEEE 0% © Py
' < .
- @ — AR o~
4 < N o M [ I R E = o M~ ™ .
— o~ ~ ~SF T el [T
~— V] . N N
] | - R o ~
™ ' © < o M~
= [ 1< [ ] - - _|_9
— —— @
o 1
—
N

18.7

55



14.1

66.0 33.8
QA%
(=65 35.4%
29.2 6. 1.5
(N=155) 32.9%
21.9 8. 4.5
(N=179) 38.5%
1 22.9 11. 10.1
0
(N=178) 53.9%
30.9 20. 13.5
(N=248) 444k
18.5 16. 14.5
(N=265) 38.1%
15.5 13. 10.2
(N=126) 34.1%
31.0 2. 1.6
(N=187) 36.9%
2.7 10. 4.3
(N=179) 40.2%
17.3 16. 15.6
(N=286) 46.9%
23.4 19. 18.2
(N=212) 38.7%
17.0 15. 11.8
(N=212) 25.9%
14.1 6. 4.7
40 50
40
40 50

56



(N=397)

57

21
21

21

10
(N=299)

o)
=
<
=
<
L — o _____
s} '
—
<
o J e p— o ___
2 ©
o
~
~ o J_ B [
N @ —
T < 3
©
= o __ -1 e - o _____
o o — ©
o o o @
— - \\\6 - - © \\\\8 -
_ o
o
(o}
[
e}
¢}
. <
(S DR L — o~
™
~
o o 4 | e e
o ™ N
¢ ,nlv_
= ~
S 1T e I =
b o
A — < o =1
0 \
o _ _
—
N -
AN




21-
21

10

397)

(N
0 10 20 30 40 50 60 (MA%)

299)
30

Q

0 10 20

50

40

24.1

35.8

(33.4 )

50.8

39.8

54.2

124

58



22

10

1,245)

(N
0 10 20 30 40 50 60 (MA%)

1,116)

(N
0 10 20 30 40 50 60

o
\\\\\ o L ___.
o
o Lo
4 u \\‘—/.w\\\ O mm
K ™~
4] i O N . o ______.
o~
1] i | e o
o

— _.O. o [9V]
4 | i L e e

o o

—

= —

<4 . n L - \\ﬂw IR | S o
O O P~
o g ST
8 o
< o
- — Lo e e
D T
4 | \518\19\119 \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ o _______
N T o :
o )
1 | N S 8 8 4 S
4 | B | X~ 06500 - _© __
N o e e T B

43.8

25.1

59



1999

59

0-0592
0724-

83- 0001

PDF






